N = 0l & AF & F Al A

SN AASD
HE: [0IME AYSH X
Sl FRIADSAAHIA X (Sl &)
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 Gl o B2
ALZDY 5,456,621 5,281,968 174,653
2 1,792,961
Al 1,768,512
2 1,895,148
FoIME ALSH N 5,397,893 5,229,120 168,773
2 1,792,961
Al 1,768,512
2 1,836,420
ZOIAYZFAHIA X2 653,991 538,075 115,916
2 225,710
Al 112,855
2 315,426
AYMBHHE SBHHIA 320,000 68,850 251,150
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Al 32,855
2 32,855
101 1248l 65,710 19,825 45,885
=2 32,855
Al 16,428
2 16,427
04 JI2HZRRSE S 65,710 19,825 45,885
OB AEAL 121 65,710,0002 65,710
= 32,855
Al 16,428
2 16,427
201 Yut2 | 6,710 38,280 A31,570
= 3,355
Al 1,677
2 1,678
03 A2t 6,710 38,280 A31,570
o322y 29| 6,710
03 B L HASE 6,710,002 6,710
= 3,355
Al 1,677
2 1,678
202 01t 4,000 4,000 0
= 2,000
Al 1,000
2 1,000
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O #2012 EF0IY| 4,000,000 4,000
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Al 1,000
2 1,000
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SEIEHER-EES 1,000,0002 1,000
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307 BI2+0| & 50,000 73,59 23,595
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2 2,500
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2 1,000
01 KAt L SEF S| 4,000 4,000 0
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= 23,402
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2 11,701
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2 1,701
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6,252,0002 6,252
= 3,126
Al 1,563
2 1,563
golg ™EY| 807,236 578,700 228,536
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Al 234,790
2 278,764
307 2120l & 807,236 578,700 228,536
= 293,682
Al 234,790
2 278,764
01 2222 807,236 578,700 228,536
OPIZte| 2012 FEH KR (M)
219,872,0002 219,872
Al 87,949
2 131,923
OPI2to|2012 HEH N@  567,364,0008 587,364
= 293,682
Al 146,841
2 146,841
2h2 0L AL (2) 63, 122 68,248 A5, 126
= 44,678
Al 9,222
2 9,202
101 Q1248 28,880 0 28,880
=2 28,880
VBIESTEES =T 28,880 0 28,880
OPPMZiH2r2|® S Zi2IAb X 28,880,000 28,880
=2 28,880
202 018 2,400 2,400 0
= 1,200
Al 600
2 600
NETLE 2,400 2,400 0
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- 8,622
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OAEH sz 2,780,000 2,780
= 1,390
Al 695
- 695
ogaayg4 7,416,000& 7,416
= 3,708
Al 1,854
- 1,854
Ogod 8= 22l 19,000,000 19,000
= 9,500
Al 4,750
- 4,750
OZs Zsm=s2(AlH]) 2,646,000& 2,646
Al 1,323
- 1,323
SMEH M Y DIEAH 22 733,854 858,092 N 124,238
= 345,617
Al 193,459
- 194,778
HA 22T ALY 271,400 318,412 N4T7 012
=2 135,700
Al 67,850
- 67,850
101 2121 d| 17,000 25,100 A8,100
= 8,500
Al 4,250
- 4,250
04 J12tM2Z2NHSES 17,000 25,100 A8,100
oHadee XJAE 201244 17,000,000 17,000
= 8,500
Al 4,250
- 4,250
307 Q1240 & 254,400 293,312 A38,912
= 127,200
Al 63,600
- 63,600
01 2 2¢ 2| 254,400 293,312 N38,912
OelZ2LHAl=HIX& 84,400,000& 84,400
= 42,200
Al 21,100
- 21,100
ONMAE=HAN=HIAA 170,000,000 170,000
= 85,000
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2 42,500

MDA MOES 0K 143,979 174,000 £30,021
2 115,183
Al 14,398
= 14,398

307 1240/ & 143,979 174,000 £30,021
= 115, 183
Al 14,398
2 14,398

05 212k eta 143,979 174,000 £30,021

OMRAMOLE 0 X2 A HHR I 2 0jl =

143,979,0002 143,979
2 115,183
Al 14,398
2 14,398

a2 orsAA R 43,320 39,960 3,360
2 21,660
Al 10,830
2 10,830

307 ©I12+0| & 43,320 39,960 3,360
=2 21,660
Al 10,830
2 10,830

01 Q2L 2| 37,660 36,000 1,660
ORI (B2 H) 34,000,000 34,000
=2 17,000
Al 8,500
? 8,500
O &t 3,660,0002 3,660
2 1,830
Al 915
= 915

05 212+9I=r 3 5,660 3,960 1,700
OBZRREALE M= 3,060,0002! 3,060
2 1,530
Al 765
= 765
ousy M 2,600,0002! 2,600
=2 1,300
Al 650
2 650

AROIAYAT(AEZ A4S AKX & 3,205 4,920 A1,715
=2 2,574
Al 631

201 LEr2 | 1,300 620 680
=2 1,050
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03 S ALS 1,300 620 680
OAre! 1,300,000 1,300
=2 1,050
Al 250
307 £I2t0) 1,905 4,300 A2,395
=2 1,504
Al 381
05 012t et 2 1,905 4,300 ~2,395
OR2UASANALAE 1,905,0002 1,905
=2 1,524
Al 381
AR TR 129,400 191,800 A62,400
Al 64,700
2 64,700
101 Q1244 9,000 9,000 0
Al 4,500
2 4,500
04 JI2HHI2 9,000 9,000 0
GI=pL 1,500, 0002 62 9,000
Al 4,500
2 4,500
201 Y2 12,400 17,600 A5,200
Al 6,200
2 6,200
01 A2t 7,400 13,600 A6,200
o2 £2y
7,400,00024 7,400
Al 3,700
2 3,700
03 #AI2 5,000 4,000 1,000
ORRALT 2 5,000,00024 5,000
Al 2,500
2 2,500
307 BI2t0 108,000 165,200 A57,200
Al 54,000
2 54,000
SEEE! 108,000 165,200 A57,200
OYASHAH I X & 40,000,0002 40,000
Al 20,000
2 20,000
OY 4t 12,000, 0002 12,000
Al 6,000
2 6,000
Oz4 56,000,000 56,000
Al 28,000
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ODIZ501Y & & & 0] AH0F2 2 HI K| 2
82,000,0002 82,000
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Al 11,650
2 11,600
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= 67,550
Al 67,550
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Al 2,500
- 2,500
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oMXIRZ 41,5609 *1 2 %13 541
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